
Fasten 4– 5/16x1 bolts/nuts/ 8- 

flat washers through the under-

body toolbox. All four bolts will 

fasten through the horizontal an-

gle welded inside the underbody 

and through the plates welded in-

side the backpack. 

 

Fasten the mounting channel un-

derneath the backpack and un-

derbody with 8– 5/16x1 bolts/

nuts/ 16– flat washers. 

 

See Diagram 

MOUNTING CHANNEL 

4 FASTENERS/ 1 PER CORNER 

TO CONNECT  UNDERBODY TO 

BACKPACK 

8 FASTENERS FROM MOUNTING CHANNEL 

TO UNDERBODY & BACKPACK 

FASTENERS SUPPLIED 

12– 5/16 X 1 HEX BOLTS 

12– 5/16 NYLOCK NUTS 

24– 5/16 FLAT WASHERS 

 


